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B %W 1 T H 261 256 298 554| T » WiHIT5 T H 531 538 517 1,055[%7 #7 7 T H 1,282 1, 540 1,415 2,955k ART3 T H 219 246 217 463
B W2 T H 368 346 377 723 - WEET6 T H 373 363 396 759[# BT 8 T H 675 774 643  1,417[/0 3 4,738 4,949 5,041 9,990
B W 3 T H 292 327 300 627 i 9, 681 9,921 9,725 19,646/% BT 9 T H 1,328 1, 380 1,093 2,473| " {RBE1T B 93 94 92 186
P45y ET 1T H 146 144 133 277[%k e 599 633 646|  1,279[K JKHI 1T H 115 90 106 196| —fRZ2T H 338 353 363 716
795y ET 2 T H 96 89 77 166|% BT 1 T H 369 418 394 812K /A T2 T H 511 536 512 1,048 " f=RE3TH 295 314 322 636
794y BT 3 T H 132 148 164 312(%F BT 2 T H 698 692 705 1,397 2 9,714 10,702| 9,720| 20,422| R4 T H 124 111 123 234
fE T iy 282 251 259 510|% k- HT 3 T H 1,553 1,415 1, 408 2,823 BT 1T H 816 811 840 1,651~ fRE5T H 87 101 93 194
A T 432 412 413 825(%F |- M7 4 T H 798 771 737 1,508 BT 2 T H 310 334 299 633R 1 T H 85 68 72 140
fif iy 198 186 180 366/ K M 1 T H 885 983 927 1, 910[r B BT 3T H 238 254 251 505[iR 2 T H 110 117 108 225
I T 129 105 121 226[k F4 2 T H 351 404 412 816 i M 4 T H 789 699 693 1,392k 3 T H 121 112 104 216
7 T iy 180 204 201 405k M 3 T H 744 854 875 1, 729[{r D BT 5T H 784 712 727 1, 439 & A H] 150 132 151 283
HE 1} 411 383 432 815t i 462 432 502 934|T 50 BT 6 T H 1,254 1,224 1,225 2,449\ & 1 T H 47 36 37 73
K » W Hr 515 525 518 1,043 53 500 544 543 1, 087|W A BT 7T H 1,155 1,044 1,109 2,183 & 2 T H 62 58 54 112
W/ bk HT 306 279 277 556(A #F T 1 T H 275 310 315 625|370 BT 8 T H 832 846 729  L,575/f1 & (L 39 57 63 120
N Gl ) 517 505 502 1,007(N % T 2T H 274 333 336 669|773 BT 9 T H 966 800 903 1, 703|/)n it 1,551 1, 553 1,582 3,135
HmfmELTH 189 182 190 37214 s 1 T H 631 831 801 1, 632[{r A ET10 T H 974 788 766 1,654|% M 1T H 302 221 244 465
HmfimE2T H 248 239 261 500(4 sF 2 T H 169 232 228 460 5 8,118 7,512| 7,542| 15,054|% [ 2 T H 84 87 79 166
HmfHE3T B 325 368 358 7264 F 3 T H 396 517 445 962\ & 1L T H 191 184 202 386|= [l 3 T H 171 139 126 265

2k 5,027  4,949| 5,061| 10,010/5 F 4 T H 626 741 718 1,459 K& 2 T H 1,071 1,242 1,209| 2,451/hEAR1TH 104 96 103 199
B oA BT 1T H 237 255 259 514(4 F 5 T H 553 667 658 1,325[4% 1% 3 T H 379 386 399 785[/NE A2 T H 44 47 52 99
|ﬁl§@ AHT2 T H 354 350 353 703 2k 9,883| 10,777 10,650 21,427|4 # 1 T H 1,413 1,448  1,460| 2,908/ AR3T H 169 177 176 353
B A RT3 T H 212 240 256 496K H Mk 1 T H 497 419 484 9034 2 T H 1, 066 1,054 1,104]  2,188)/h & K4 T H 213 149 209 358
E W1 T H 708 670 650 1,320 H#E2 T H 822 747 754 1,50115 J# 3 T H 873 915 906 1,821/~ A5T H 75 72 83 155
E W2 T H 749 813 813 1,626/ & M3 T H 1,153 1,069 1,099 2,168|4 H 4 T H 0 0 0 O[E W1 T H 173 152 149 301
E W3 T H 402 458 450 908|3 & Mfr4 1T H 789 638 669 1,307|5 5 T H 161 49 135 184 R 2T H 246 258 245 503
E W4T H 808 780 869 1,649 H M5 T H 1,056 956 991 1, 947 &t 5,154  5,278| 5,415 10,693|® R 3 T H 214 159 189 348
E W5 T H 522 501 525 1,026\ & #E 6 T H 415 434 388 822|/)5 il 55, 765| 56,671| 55,843| 112, 514[/ B 1,795 1, 557 1,655 3,212
E e T H 226 221 243 46418 » A 1 T H 384 380 379 TR 1 T B 363 390 363 753 A1 T H 205 150 207 357
E W7 T H 489 485 409 B4R » A2 T H 858 639 807 1,44608 1 2 T H 405 413 421 834l A2 T H 212 206 159 365
E W8 T H 280 293 277 570[Rh (i BT 1 T H 352 398 378 7760 3 T H 458 489 472 961[pk A3 T H 103 111 102 213
E W9 T H 4 4 4 8| [ BT 2 T H 793 859 848 1L,707)F0 HET 1T H 206 219 211 430 A4 T H 49 41 46 87
K HE 1T H 311 314 295 609|Rif [id] BT 3 T H 595 585 531 1, 116/f0 HHEr2 T H 281 274 302 576[ A5 T H 70 59 71 130
KHEHE 2T H 337 303 291 594(kf [id] BT 4 T H 474 408 402 810t # 1 T H 185 220 221 441[p% A6 T H 36 39 35 74
K HHE 3T H 346 381 366 747 5 8,188| 7,532 7,730 15,262 %% 2 T H 208 222 257 479 A7 T H 66 67 65 132
KHEHB 4T H 313 367 342 709(% BT 1 T H 1,233 1,367 1,326 2,693 # 3 T H 193 203 209 4126 A8 T H 88 97 74 171
K HE 5T H 317 348 342 6901 M7 2 T H 848 927 832 1,759 %5 4 T H 229 254 235 489|/)5 3t 829 770 759 1,529
T #EHETL T H 665 676 672|  1,348[% WT 3 T H 1,553 1,610] 1,472| 3,082 4% 5 T H 550 622 665 1,287|H 8RBT & F| 8,913 8,829 9,037 17,866
T #HET2 T H 565 582 567| 1,149(% BT 4 T H 734 771 766| 1,537\ 4% 6 T H 569 620 562 1, 182|& #H 64,678 65,500| 64, 880| 130, 380
T WEHT3 T H 424 504 410 914(%r M7 5 T H 1,337 1,591 1,443 3,034[kh A BT 1T H 358 388 389 777
T W4T H 508 475 419 894(%r M7 6 T H 98 116 112 228\t AT 2 T H 514 389 517 906




